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—. ZHmAK:

(D) TEa 28 R B AR,

(2) H parzen &l knn FiERIHIES G125,

(3) wERT, @i BARLI RS AFRHSES S T A R, eS8
FZHEAG T 2 1A B 5 7], ARATTHI LB S e A4, DLRAE AP EES St v,
h Ak s T2 SR A4 .

—\ SCIOFFIE.

(1) RS
JEHF/R® FEEM 17-7500U AbFE2S
512 GB PCIe® NVMe™ M.2 SSD
8 GB LPDDR3-1866 SDRAM

(2) B
Windows10 K EEfR 64 (L #AE RS
Matlab R2016a

=. ZBRAR

wl w2 w3
A xl x2 x3 x1 x2 x3 xl x2 x3

1 0. 28 1. 31 6. 2 0.011 1. 03 =0. 21 1.36 2. 17 0. 14
2 0.07 0.58 -0. 78 1. 27 1.28 0. 08 1.41 1. 45 -0. 38
3 1. 54 2.01 -1.63 0.13 3.12 0.16 1.22 0.99 0. 69
4 —0. 44 1. 18 —4, 32 —0. 21 1. 23 —0. 11 2,46 2. 19 1. 31
5 -0. 81 0.21 573 -2.18 1.39 -0. 19 0. 68 0.79 0.87
6 1. b2 3.16 2.77 0.34 1. 96 0. 16 2,51 3.22 1. 35
T 2.2 2. 42 0. 19 -1.38 0. 94 0.45 0.6 2. 44 0.92
8 0.91 1.94 6. 21 -0.12 0.82 0.17 0.64 0.13 0.97
9 0. 65 1.93 4. 38 1.44 2. 31 0.14 0.85 0. 58 0.99
10 —0. 26 0.82 —0. 96 0.26 1.94 0. 08 0. 66 0.51 0. 88

(1) Parzen HIESHEMTHE:
FIFEAAAX PL35 (1D -

1&G1 X=X
p,(X) = HIZ:I:\T”(D( h )

(2) Knn IESHAE %
FIFRA A P145 (32) -
k- /n
MMNFﬁT
MF—HER, Vo KEBNIERIBIERN 2 fF, MTHER, V hI kTREEs
AFEFHEOERR, S TF=AMCER, VA kISR S A FEHERBIETR,



0. sEEEER

(1) Parzen &IESEIEMTHE:

(a) 4 h=1
1 2 3
(0.5. 1.0, 0.0) ;00502 01880 0.1588
1 2 3
(0.31, 1.51, -050) :_ 00612 0.1927  0.0902
1 2 3
(_0.3’ 044’ _01) : 0.0558 0.1509 0.0728
(b) € h=01
(0.5, 1.0, 0.0) :
1 2 3
| 3.5015e-22| 2.7011e-07 3.1924e-19
(0.31, 1.51, -0.50) :
1 2 3
| 1.1457e-22| 4.7893e-08 8.6167e-28
(-0.3, 044, -0.1):
1 2 3
| 1.4514e-14 1.5096e-06 4.2459e-42

RI, hFEBRIRO0LE, X=MHRAMBEE_LOPRBEILRR, FAEx=
PR E T Bk,

AFE—FHR h RN IESEETTZ N, T AR S AR MFHLER
K, BHBRBEESEERRN TR, TUEAIRS h 1 NEHMNRATE, hEAE
48
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(2) Knn IEBBefEHE:
(a) XT3 w3 b a94HAE x1 34

R

0.8

0.6

0.4

0.2




(b) XTI w2 FEIHFE x1, x2 HITHRBEMT

K=5
(c)  N=MINL[BTHRBEET

AEHE k=3 :
x=[-0.41,0.82,0.88] ZE=(HHMHERZEN 5K
0.0021 0.0553 0.0358

x=[0.14,0.72,4.1] A=(PHNBEEED 5K

0.0043 9.64?83-0% 0.0021

x= [-0.81 0.61 -0.38]#=(FHMEEEDHIN

0.0026 0.0869  0.0085

E, RRIERESIRITENER, TRENRAKE.



